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(a+b)3 =7

(a+b)3 =(a+b)(a+b)(a+b)
= (a* + 2ab + b*)(a + b)
= a3 + 2a*b + ab?* + a*b + 2ab® + b3
= a3 + 3a’b + 3ab?* + b’

(a + b)3 = a3 + 3a?bh + 3ab? + b3

Huitj103puiii Ky0




(a + b)® = a®> + b®>+ 3a%b + 3ab?




Koo 1 (a + 3)3 0JI0H rHIIYYHT X3I03PT OUYIIPIIA.

(a+ b)3 = a>® + 3a?b + 3ab? + b3 = a

Huiin6opuiin Ky b =3

(a+3)°=a%+3a*%x3+3ax3%+33
(a+3)3=a®+9a*+ 27a + 27

Wumss 2. | (b + 5)° 010H rHImyyHT X563pT 6HU33pII.

a=>b
(a+ b)3 = a3 + 3a?b + 3ab? + b3
Huitnospuiin Ky0 b=75

(b+5)° =b>+3b*%x5+3bx5%+5>

= (b+5)3=b3+15b%*+ 75b + 125



Kuudd 31| (4 + x)3 onoH rEIyyHT X2103pT OUUI3POH.

a=4
(a+ b)3 = a® + 3a?b + 3ab? + b3
Huitn03puitn Ky0 b = x

(44x)3=43+3X4%2Xx+3x4Xx%+ x5
(4 + x)3 = 64 + 48x + 12x2 + 3

Kums 4: (x + y)? onon rumyyHT X3165pT GHUIIPOIIA.

j (a+ b)? = a® + 3a*b + 3ab* + b’ g

= Huun03puiiH ky0 D — Yy

| (c+y)i=ux Foxsy £ Sxy: +y°
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JKumsd 3 (x? + 7)3 05OH ruIIyyHT X3109pT GUUIIPII.

B
(a+ b)3 = a® + 3a?b + 3ab? + b3 (¢ o

Huii163puiin Kyo D= 7

(x2+7)y =@ taly = X7 1 3y x7~+7°
(x?+7)3 =x° +21x* + 147x + 343

- BT (2x + 1)3 on0H rumyyHT X3105pT GUUIIPIH.
= a=72x

= | (a+b)’ = a’+3a®b + 3ab* + b*

= Huitn6spuiin Kyo D=1

B (2x+1)% = (2x)°+3(@2x%)2x 1 + 3 x 2x x 1% + 1°
& (2x+1)*=8x>+6x*+6x+1
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Ipuitn  oaanzaeap:. Jlapaax OOMJIOTOHYYALIT OJOH THIIYYHT
X2JI03pT OMYIIPIU.

1l t ) —
2 (rx 1P

3 (e b 2yy =
4. (8+y)3 =
5%
6.
7z

(10m + 8n)3 =
(9x + 7y)3 =

(4 + 11x)3 =
(Rridl 3y )" =
(2x3 + 5y)3 =
(10 + 3m®)3 =
(Bn% + 7m2)3 =
8 (3x+2y)3 = (y A 72') =
9. (x + 4p)3 = (5a* + 3b7%)° =
10-Cm L on) = . (10a? + 9b%)3 =

(5+ 3m)3 =
(4 + 2n)3 =
(10m + 1)3 =
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